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1. The Question Paper consists of four sedions :
Section-A Mental Ability of 50 questions (Q.No. 1 to
50), Section-B Teacher Aptitude and Attitude of 50
questions (Q.No. 51 to 100), Section-C General
Awareness of 50 questions (Q.No. 101 to 150) and
Section-D English OR Hindi of 50 questions (Q.No.
151 to 200).

2. Write your entries like Question Booklet No. and
Subject selected for Section-D etc. very carefully and
fill the relevant circles on the OMR Answer Sheet.

3. For filling the OMR Answer Sheet and darkening the
circle use Blue/Black Ball Point Pen only.

4. Answer all questions. There will be no negative
marking.

5. 3 marks are allotted for correct answer of each
question of section A, C, D and 3, 2, 1 and 0 marks
are allotted respectively on preference for correct
answer of section B’ Teaching Aptitude.

6. Each question has four alternative responses marked
serially as A, B, C, D. You have to darken only one
circle or bubble indicating the correct answer on the
Answer Sheet using Blue/Black Ball Point Pen.
Darkening more than one circle would be treated as
wrong answer.

7. If there is any sort of ambiguity/ mistake either of
printing or factual nature then out of Hindi and
English Version of the question, the English Version
will be treated as standard.

8. In case of missing pages, missing questions or any
kind of printing discrepancy/defect in Question
Booklet, candidates may put their objections to
invigilator within 5 minutes and obtain another
Question Booklet.
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Section-A / {FT-H
Mental Ability /AR Jrear

Choose the alternative which closely
resembles the water image of the given
combination.

39 faeheq o1 =9 &t 11 feu U ghieH i
TA B F AL |
BK50RP62

(A) BXR20Kb9S (B) BKSO¥beS

(C) BK20¥beS (D) BK20KbesS
In the question below are given three
statements followed by three conclusions I,
II and II. You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read all the conclusions and then
decide which of the given conclusions
logically follows the given statements,
disregarding commonly known facts.
Statements : All schools are colleges.

Some universities are institutions.

No school is university.
Conclusions :

I.  All colleges are universities is not a
possibility.

II. No college is university is not a
possibility.

III. Some institutions are not schools is
not a possibility.
A) Only I and II follows.
B) Only II follows.
C) Only III follows.
(D) OnlyI and III follows.
e Teu 10 w97 9§ 9 e 3R 39 &g 7

(3
(A) a I 3T 11 3TTET Hd & |
(B) haet II 3THI0T LT 2 |
(C) haa I SRV HIATE | _
(D) “heret T 31 TIT S1H0T hTd & |
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3.

The film director wants an actor for the lead
role of Lucky who perfectly fits the
description that appears in the original
screenplay. He is not willing to consider
actor who do not resemble the character as
he is described in the screenplay, no matter
how talented they are. The screenplay
describes Lucky as an average-sized, forty
something, red head, with deep brown eyes,
very fair skin, and a brilliant smile. The
casting agent has four actors in mind.

Actor 1 is a stunning red-haired
handsome who is 59" and in his mid-
twenties age. His eyes are brown and
he has an olive complexion.

Actor 2 : has red hair, deep brown eyes,
and a fair complexion. He is in his
mid-forties and is 5'5".

Actor 3 : is 5'4" and of medium build.
He has red hair, brown eyes, and is
in his early forties.

Actor 4 : is a blue-eyed, red head, in
his early thirties. He’s of very slight
build and stands at 5'.

Tpen e
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(©) 3,4

(D) None of these /
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Soham has invited his three friends over
to watch the football game on his wide—
screen television. They are all hungry,
ut no one wants to leave to get food.
ﬁ the time they are arguing about
who should order the food, a
commercial comes on the television
screen for a local pizzeria that delivers
izzas at home. The phone number
ashes on the screen briefly and they all
try to remember it. By the time Soham
grabs a pen and paper, each of them
recollects a different number.

# 1: All of the men agree that the first
two numbers are 67.

##2: Three agree that the third number is 2.

##3: Three of them agree that the fourth
number is 4.

#4: Three agree that the fifth number is
greater than fourth number but less
than sixth number.

#5: Three agree that the sixth number is
6; three others also agree that the
seventh number is 8.

Which of the numbers is most likely the

telephone number of the pizzeria ?

(A) 6726548

) 6724568

(C) 6724758

(D) Insufficient Dat

Iy A 3

i et

T EEE 67 % |
#2: ?ﬁ?m%%?ﬁaﬁa@rz%l
#3: mﬁﬁﬁ?wmém%

#4Fﬁ:{ %%masﬁm%ﬁeﬁﬁw
, AT B TR EHAE |

#5: ?ﬁq Hed § T Bal W@ 6 ;A
371 3 TEwd & fop wral e 8 2 |
I Y I G e fUSSIIET & S FaT
1 gy ATk T B ?

(A) 6726548 (B) 6724568

(C) 6724758 (D)

40 NILIGOUNCE WL LTI WSO NDS WO UNE) TARIUNE)

V0 WO NG N0 M ED2UN03 T NDEUNS TR KITUND) TR UMD) RN THLN

DTN N3 U TR ADIUNO) TR 0 TR

WLIOUSES TN TYLIDILMDI WILXODUVED TRENIIUND) TNLITCHAEE TEETUNED THLIBIELMD WILKODUND WETINC)
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Mabhesh is working with a friend to find
a location for the toy store he plans to
{)en in his town. He is looking for a
%ace that is either in, or not too far
om the center of town and one that
would attract the right kind of foot
traffic. Which of the following locations
should Mahesh’s friend call to his
attention ?
(A) A storefront in a new high-rise
building near the train station in the
center of town whose occupants are
mainly young, childless
professionals who use the train to
commute to their offices each day.
A little shop three blocks away
from the town’s main street,
located across the street from an
elementary school and next door to
an ice cream store.
A stand-alone storefront on a quiet
residential street ten blocks away
from the town’s center.
A storefront in a small strip mall
located on the outskirts of town that
is also occupied by a pharmacy and
a dry cleaner.
T3 Ush SR <h T 1T L T@T 8 dlieh 98
9 W H RaeH $ ghE e H
?-'ﬁTrFlT 1 Th | I8 Teh UH SR I qeArT
T2 S A etk g H B AT 3UY 5
A B 3R A FE THR h Jee A1
emiﬁfﬁa e | Frefafaa @ 9 5 wom w

TR % T Bl IHRT M TN ST

=18 2

(A) Y8 & g H ¢ WIA % U Th 73
Sl AR H Uh TSH H AN @
el M (RIThe), TEH & a

®Y § ga1, FEaE wer € S
Tk fe 3o et § 9T o fore
37 1 ST HA 8 |

(B) &t I T&F A d o AT ¢ Th
BT = gpH, T WATHeh foremer™ &
Tgh o IH IR 37 Teh 3M3Eh <6
M o T H R 2 | .

(C)w%%ﬁmm&@w
AEHE S W Teh -3
TR | _

(D) Y&t % &l 3eirh # feud o i
&9 afct § U @ioke foEd U gars
61 GHM 3T SIS Tl hT ft o 3 |

MKP

(B)

©)

D)




PTETRAJ2024.COM

While travelling in a Haryana registered
commercial taxi from Haryana to an
adjacent city (another State), your taxi
driver informs you that as he has no permit
for running the taxi in that city, he will
stop at its Transport Office and pay the
prescribed fee of ¥ 50 for a day. While

paying the fee at the counter you find that :

the transport clerk is taking an extra ¥ 50
for which no receipt is being given. You
are in a hurry for an office meeting. Under
such circumstances, what would you do ?

(A) Do not interfere at all as this is a
matter between the taxi driver and the
tax authorities.

(B) Take note of the incident and
subsequently inform the matter to the
concerned authorities.

(C) Go up to the counter and ask the clerk
to give back the money which he has
illegally taken.

(D) Treat it as a normal affair and simply
forget about it.

BT USiisha SAaHIReh o6 § gRemn

T o TR (G T) T IA1 Fd a9,
STehT ool <ieteh 3TT9eh! m%ﬁs
IGeh T 39 T Y ul I IS T
Tl 3, I8 35k UTea Shiierd H STl 37 Tk
ﬁq%f?ﬁ? 50 T Sjeeh AT |
ook S T 3T UTd & fob Tieed
aaa’s% 503%&%%@%1%@%3%%@3?@
&SN B | 31 AR e 6 fore Sy |

T | U uffefoR o a1 SRy 2
(A) ﬁ?@ﬂ BRI | L ifh Tg ol
3 R AR % = @5

tmm%|

(B) AT W &IH ¢ 3R w1¢ § Hafed
FferepTiET 1wt 1 gEAT S |

(C) T3 T I 3N Fefeh & 39 9 ol
ITIE HH o T g 511 35 3144 T
gfaug |

(D) 38 HHI= WIHEAT B 371 36k a1 §
A 9 |
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You are a Professor in a University and
are setting an examination paper on a
particular subject. One of your
colleagues, whose daughter is preparing
for the examination on that subject,
comes to you and informs you that it is
his daughter’s last chance to pass that
examination and whether you could help
him by indicating what questions are
going to be asked in the examination. In
the past, your colleague had helped you
in another matter. Your colleague
informs you that his daughter will suffer
from depression if she fails in this
examination. Under such circumstances,
what would you do ?
(A) In view of the help he had given
you, extend your help to him.
(B) Report the conduct of your
colleague to the higher authorities.
(C) Explain to your colleague that this
would be violating the trust of the
University authorities and you are
not in a position to help him.
(D) Regret that you cannot be of any
help to him.

A T favafoame™ § Tihea 8 3R uh

foramy fereer 9T weh qie v AR @ # |
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gfua foran o afe a8 39 wlien § SRl

Bl ST 3 1 35h! B 3ERE ¥ T Al

ElifRe: T 3779 1 T 2

(A) 3T 3ATYehT S Heg < oft, 38 ¢Ed 7¢
AT Heg 3! 3T QY |

(B) 3= IepIfEl 1 394 "I %
3TeroT <l e & | :

(C) 34 @edrll =l #Hend 6 ug
Tarvafaene & sAfemiEl & favam
T oot BT 3R 39 3! Heg
FEFH FRAGATEE |

(D) T H foh 3w 3w forw hid
Hee T8 L Fehd & |
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In a question given below there is a
statement followed by two assumptions
numbered I and II. An assumption is
something supposed or taken for granted.
You have to consider the statement and
assumptions and then decide which of the
assumption(s) is/are implicit in the
statement. You have to consider the
statement to be true even if it seems to be at
variance from the commonly known facts.

Statement : The school has decided to
rusticate such students from the school
who is creating violence and not
following rules in the school.

Assumptions:

I. By rusticating students from the
school those students will never do
such things again in the future.

II. This action leads to discipline in the
school

(A) Only assumption I implicit.

(B) Only assumption IT implicit.

(C) Either assumption I or II implicit.

(D) Neither assumption I nor II implicit,

LR R S oL
e | B @w g
RO 9T foaR T @ 3R fR Ao
%y | fafga
T 3 = It &

g FaTTd L § 9= dfta gran 2 |

I Bl Wl ¥ e & o ufas
v T |
I. 3§ E%ri?ﬂ% Y A H IIAET 1
Edl e |

(A) Hae gRoT 1 SFdfHfEd Eu
(B) <harel 9RO 11 37afiied 2 |
(C) I grom 137 11 |
(D) 7 @ gron I 3 & 10 2l

If im a certain code language
EQUATION is coded as ZFJVMLRG,

then how is FORECAST coded in that
same code language ?

Ife et fafeaa e w1 §# EQUATION
%! ZEJVMLRG % &9 H heag fohal S
7, a1 351 %e 9T # FORECAST 1 8
Shesg fopan sma 2
(A) EROFTSAC
(C) EFORSATA

(B) ULIVXZHG
(D) VILUGHZX

HYA : TheA A UH BHET hl WA § R

V0 WO NG 240 M D3RO T NDEUN) TREKDIUNC) THISEDI UMD) THLNDELM) THLINIOUNEE NGO 0 VLD UVED LD TSR DI WS NO) HLAIUNE)

DTN N3 U TR ADIUNO) TR 0 TR

D) TLIOUSES TAOTUND) THLIDZLANI WLXODUVED TRENIIUND) THLLNICHAEE TEETUND THLIBIELMD WILKODUNCD WETUNC)
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10.

11.

Find the missing number in the given
series following the same pattern.

& T AEet § THH Yo T SE Hd
BT F AT 1A ST |

29Al1, 3CL8, FO47, 56JR, (?)

(A) 50U6 (B) 6NVS5

(C) 50Ve6 (D) 60US

Read both the statements and decide

which of the following answer choice

correctly depicts the relationship
between these two statements :

Statements :

I. The car manufacturing companies
have recently increased the prices
of mid-sized cars.

II. The Government recently increased
the duty on mid-sized cars.

(A) Statement I is the cause and
statement II is its effect.

(B) Statement II is the cause and
statement I is its effect.

(C) Both the statements I and II are
independent causes.

(D) Both the statements I and II are
effects of independent causes.

ST AT i Ue 3T 7 i o Ffarfiaa

T | $H A1 W foehed 31 ST HUFT &

o oY 1 T8 & 8 ST |

SY:

I. R o suf=i 3 ge & ° oem
TR 31 I h i Ihg i 3 |

I. ¥R 7 g & H HeH 3R i
HRI T ok TG 2 |

(A) %Baqlw%aﬁi$a=rnmm

|

(B) ;mnw% 3T U 1 3HehT IHTE

I

(C) YA I 3R 11 THT T T 2 |

(D) % 1 3 I THi Tdd SRV 5
JIE ¢ |
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A company needs to decide whether to
mvest in a new technology platform or to
contmue using their existing platform.
Which factor should the company consider
most when making this decision ?

(A) The potential benefits of the new '

platform.

(B) The compatibility of the new
platform with existing systems.

(C) The cost of investing in the new
platform.

(D) The potential impact on employee
productivity.

@maﬁaﬁasﬁﬁﬁaﬁw%ﬁs

O &l T ST TG
éﬁ% ﬁ%?ﬂ?iﬁ$ﬁaﬁﬁ$gaﬂﬁﬁ
28 HEHT =T 2
(A) :quaéswfaaam
(B)ﬁkﬁgﬁﬂar%zg?quadﬁ3ﬂ§§m1

(C) FuF=
(D) IATehdl T HATEd I91E

Six books - English, Hindi, Science,
Computer, Maths, and Sanskrit each
contains different number of pages.
Computer book contains fewer pages
than only two books. English book
contains more pages than Science book

but less than Sanskrit book. Science i

book does not contain least pages.
Sanskrit book contains fewer pages than
Hindi book. The book which contain
third lowest pages contain 28 pages.

How many book(s) contain more pages
than Science book ?

(A) Four (B) Two
(C) Three (D) None of these

BE qEIh - 3ES, f&d, faem,
Trﬁﬁ 3R HEH e B e d{:ﬁ:ﬁ
I T 2 | HYL H IEh H haAd o
Ehi i o1 H hH 8 B & | 3T A
g H faem 6 e ¥ SImer |Afeh
H@ﬁf#ﬁgﬁﬁﬁ@i&ﬂ g | fagm &

ki

$H

%W; ﬁ%ﬂm@ ,

‘Ig
ﬁ?ﬁﬁ}?ﬁﬁﬁfiﬁﬁmT#ﬁgﬁﬁﬁiT3ﬁ§$
TR
(A) =
(C) dH

B) @
(D) 379 © i A&
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14.

15.

16.

In below shown figure, count the

number of triangles :

N
(A) 26 (B) 27
(C) 28 (D) 30

From the given answer figures select the
one in which question figure is embedded.

& TS I B H F 38 g fEs g
ARl AffEa R |
/.
V'
/
R
//7
{/ /
w [N ®
= 4
© 0 DRAZN
| DA

Choose the alternative which closely
resembles the water image of the given
combination.

39 faehed o1 == ot St feu e FeH i
TA BT F TR |

GR98AP76ES

(A) CHKa8VbiRE?2

(B) CHB68VbLAYE?R

(C) cYasvbA9E?2

(D) CHa8AbARES
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Select the alternative which represents
three out of the five given below figures
which when fitted into each other would
form a complete square.

BT TI R AT AT A S g

m@ﬁﬁﬁﬁ?ﬁqwuﬁﬁ'ﬁuaw%ﬁ
Tsh- Eg?ﬁﬁﬁ@ﬁm@@ﬁaﬁt(aﬁ)

>D 7D
8w g

134

234
From the given answer figures select the
one in which question figure is
embedded.

44 38 g fmd
S o

’

(A) (B)

AN

A
A oA

Read the following information carefully
to answer the question given below :
51) M * N means M is father of N.
i) M — N means M is sister of N.
(111) M + N means M is mother of N.
(iv) M / N means M is brother of N.
In the expression Q + D * P/ N, how is
Prelated to Q ?

©) (D)

(A) Grandfather (B) Grandson
(C) Daughter (D) Son

fu M oy #w; IW %5 ferg
Freferfaa sTreprt w6t

OM*NH IFEM, Nwﬁm% |

(i) M — N#HIFIEM, NH sgT 2 |

() M+ N®AIEM, NHI A2 |

(w)M/Nwaqei%M,Nwmé%l
%+D*P/Nﬁ, P, Q ¥ {8 TR

et

(A) gra1 (B) Grefl
(C) & (D) S

V0 WO NG 240 M D3RO T NDEUN) TREKDIUNC) THISEDI UMD) THLNDELM) THLINIOUNEE NGO 0 VLD UVED LD TSR DI WS NO) HLAIUNE)

oo m e us0s TR

UNISUND) TNLIGOUAEE TSTUND) THLIDZMIY WILKDAVED TEVDILMD) TNLXICHAZE T SEDIUNED THLINIELMD] WILKODUNLA WAL 2N

L

20.

21.

22.

In a town of 400 people, 185 speak
Tamil, 165 speak Punjabl and 160
speak English. 40 speak both only
English and Tamil. 20 speak both only
Punjabi and Tamil. 10 speak both only
English and Punjabi. How many people
speak onlg;one language ?

400 ST o Teh TR H, 185 Akt dieid &,
165 TS S B, 3 160 3B &

3 | 40 et SR 3T Aferet S e B |
20 I IS TR AHA g e 8 | 10
A ST TR IS g1 Sierd @ | fohed

AT Shael Teh HINT STeid @ ?
(A) 310 (B) 201
(©) 210 (D) 301

Point B is 7 km to the west of Point A.
Poimnt C 1s 12 km to the south of Point E.
Point A i1s 5 km to the east of Point C.
Point D is 8 km to the north of Point C.
Point G is 6 km to the west of Pomnt D.
Pomnt H is 14 km to the south of Point G.
If Shubham is standing 6 km to the east
of Point H and takes 1 hour to complete
6 km distance, then in what possible
time he would reach Point E, if taken the
shortest route ?

(A) 120 minutes  (B) 180 minutes

(C) 115 minutes (D) 159 minutes
ﬁg B, fig A% 7 fopfl uftem 5 2 | ﬁlg

ﬁi
et |
e

. qu'géfn,
waﬁmwﬁzﬁauggmm?

(A) 120 e (B) 180 fiFe
(C) 115 fome (D) 159 e

Find suitable answer in place of question
mark.

YT I o T T 3 T GeT |
16221 36i% 2

(A) 43 (B) 26

(C) 53 (D) 46
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(Q. No. 23 and 24): 8 persons from A to H sit

around a square table such that 2 persons sit in
the middle of each of the sides. The persons
sitting on one side of the table face the persons
sitting exactly opposite to them on the
opposite side of table. A sits on the immediate
right of E. G faces the one who is second to

the left of B. 3 persons sit between A and G.

Two persons sit between F and D (when
counted from one side only), who is adjacent
to E. Only one person sits between G and C
(when counted from one side only). A is not
adjacent to F.

(T.H. 2309 24) : A ¥ Hdh & § Ak Th
TR HS o IR 3R 36 JehR 93d & foh 2 SATh
T Yl % He § §ad & | B o Uh 3T 93
Hfehal 1 g@ 3 o Sieh feradia 3R 93 =xfera
H AR | A, EF IH I 931 2 | G 1 J& A
FfF HI MENBFH TR TWE | A
IMGHFAI3AFIZE IFIMD ST
fth o3 & (haed Tsh a% & i 9 W), STE &
e 2 | G 3 C & 94 Faet Tk AE 931 B

(sheTed Weh 3T Y i ST W) | A, F o fehe 781 ¢

2

23. 'Who among the following sits second to
the right of the one who faces E ?

A) C B) D
(C) F (D) Either C or D
Frefefiad § & %M E 41 3 3@ =i
6 GRI GEL T T A3T1 8 2
(A) C (B) D
(C) F (D) AACAD

24. How many persons sit between E and
F?
A) 3 (B) 4
(C) 2 (D) None of these
E 311 F % 0% foha ARG 43 8 2
A) 3 (B) 4
(©) 2 (D) 378 ¥ s A&

MKP
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25.

The school principal has received
complaints from parents about bullying
in the school yard during recess. He
wants to investigate and end this
situation as soon as possible, so he has
asked the recess aides to watch closely.
Which situation should the recess aides
report to the principal ?

(A) A girl is sitting glumly on a bench
reading a book and not interacting
with her peers.

(B) Four girls are surrounding another
girl and seem to have possession of
her backpack.

(C) Two boys are playing a one-on-one
game of basket ball and are arguing
over the last basket scored.

(D) Three boys are huddled over a
handheld video game, which isn’t
supposed to be on school grounds.

THA o JUHMER Sl HATEHDT 6 GRH
TheT o YT H b % 1§ HaT- o
T e ficft € | 98 Sog & Tog 3@
feufa 6t Siter 37 38 |uTe 6 =6 2,
FETAT 3T HEATIhRTI TETeh! ol SAeh! &
@ o foTT @l 8 | HEATIRIST HERIehi i
Topmr et <6t g e ot St TR 2

(A) T TSH! T o T U bl 9G &l
2 3 9 =il % |1y S-<id
TE R R |

(B) IR Siefhal Ueh 3T TSl o 3TH-
T 8 37 UET e & foh 3 SRt
T sheTl S foran T R |

(C) T TSH SThe icT 1 Th-Teh &
T @ & 3R Afgh IRk W W
TEHRRE |

(D) @ @ 1Y | I dTet difedr T
% foTu 3799 ¥ 33 gU 7, S Wt
AGH H TE a1 1T |
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Mrs. Dixa took a taxi to meet her three
friends for lunch. They were waiting for
her outside the restaurant when she
pulled up in the car. She was so excited
to see her friends that she left her bag in
the taxi. As the taxi pulled away, she and
her friends took notice of the license
plate number so they would be able to
identify the car when they called the taxi
company.

1: The four women seem to agree that
the plate starts out with the letter J.

2:  Three of them agree that the plate
ends with 12L.

3: Three of them think that the second
letter 1s X, and a different three
think that the third letter is K.

The four license plate numbers below

represent what each of the four women

thinks she saw. Which one is most likely
the license plate number of the taxi ?

st feer 3 o= & fore st o a=fomi
Y fie o foru 2oeft off | 9 TEiie & et
3IGhT SIS T &1 off 5ie 98 R T |

T S WRE G el ¥ R s

Seartted oft fop 7o S Sl & B T |

SH O oHt wefl ME, 3T 3 3Eeh

weferEl 9 oEdE wie ge W A fea

qTfep o SRt U ohl ShieT shid T T <hl

g G |

1: = Afee 39 o1d & HeAd S sl &
Top wote 61 IR T SRRA B R |

2: I H A Hend 8 7 wie 12L %
1 I Bl 2 |

3: W dF Hredl ¢ o R SRR X B,
3TN 371 o Hierdll 8 o i 3K R |

Hrr € T TR AREE e F@AT g &

fop =R wfgenatl § 9 g F1 di=d & 6

36 F1 e | dat i e wie JE

I Hi B ohl FHTeHT Tl e B 2

(A) JXK 121 (B) JYK 12L
(C) JXK 12L (D) JXX 12L

V0 WO NG 240 M D3RO T NDEUN) TREKDIUNC) THISEDI UMD) THLNDELM) THLINIOUNEE NGO 0 VLD UVED LD TSR DI WS NO) HLAIUNE)

DTN N3 U TR ADIUNO) TR 0 TR

D) TLIOUSES TAOTUND) THLIDZLANI WLXODUVED TRENIIUND) THLLNICHAEE TEETUND THLIBIELMD WILKODUNCD WETUNC)

\D s wucoises s

27.

28.

29.

If in a certain code language DESERT is
coded as EGVHTU, then how i1s BUDGET
coded in that same code language ?

I fepeft feara e W § DESERT 1
EGVHTU % ¥4 # $eag fopa S 2, a
3T e W § BUDGET &1 8 $edg
Tepam e 2

(A) CVGKGU (B) CWIJGHU

(C) CWGIGU (D) CVIGUG

Count the number of quadrilaterals in the
following figure :

FfcTRaa SRl J =y o1 we i -
A) 7 (B) 8
(€) 10 (D) 12

Following question consists of a set of
three figures X, Y and Z showing a
sequence of folding of a piece of paper.
Figure Z shows the manner in which the
folded paper has been cut. Choose a
figure which most closely resembles the
unfolded form of figure Z from the four
answer figures given below.

Frafafaa gea ° F X, Y 3R
Z 1 T T 2 AN HFIS b Teh Ihe ol
HISH 1 3H QT @ | 3TTehfd Z 39 ik
%I fe@rar @ &0 g8 8T S & He
w%ﬁ%zﬁgﬁ%%ﬂm g;i@
T Ul 3Tl HH Z «
& Y Hoy Afereh frerdi-Serd & |
[ "\I"'] pr N
) ™ @
Answer Figures :
IR IATHIHAT -
f'_(.:\ p—
(A) ®B) || ©
g) | —
O O
(C (D
b [les, ) || O
MKP
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If a mirror is placed on the line, then
which of the answer figures is the
correct image of the given figure ?

Ife T@1 W T ST TG ST, dl & TS I

it § ¥ HH Hi 31mhid & 7 3mHla
o1 HEl Yfafes 8 2

(A) (B)

0 e«
g X

Which symbol will be on the face
opposite to the face with symbol * ?
*

%Ww%ﬁwﬁawmﬁqm
g g 2

(©) (D)

@ » $

+ + *

s |7 . $ 8
A) @ B) 8
(OR D) +
If mirror is placed on the line MN, then
which of the answer figures is the
correct image of the given figure ?

@l MN W T@T S, g

TR # F H Al
?@%W@E@ﬁm%? T

SHNAGAI E

N
(A) 2HV/IADAI

(C) IAGANHS

(B) IADAVIH2
(D) IAGAVHS

Arrange the following words as per the
order 1n dictionary :

I[egl ! IGHIY b HH
ITER FH W

1. Successor
3. Successful
5. Succession

(A) 4,5,3,2,1
(€) 4,3,5,2,1

2. Successive
4. Success

(B) 3,5,4,2,1
D) 1,2,3,5,4

MKP

34.
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36.

37.

From the given alternative words, select
the word which cannot be formed using
the letters of the given word :

fau v oo wegl # & 8 wreg YT S
fqu MU wIeg & e BT TAMT B TG
AT ST AT &

LEGALIZATION

(A) ALERT (B) GALLANT

(C) ALEGATION (D) NATAL

A man is performing yoga with his head
down and legs up. His face is towards
west, in which direction his left hand be ?

(A) North (B) East

(C) West (D) South

Ueh 3TeHT o i 3R T FU =T M
@ 2 | 39 g@ UvEd N g,
3TehT ot BTy fep fesm 4 B 2

(A) I (B)

(C) ufeem (D)

Mark the answer as per the code

provided below :

Assertion (A) : Clothes are not washed
properly in hard water.

Reason (R): Hard water contains many
minerals.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are correct and (R)
1s not the correct explanation of (A).

(C) (A) 1s true but (R) 1s false.

(D) (A) is false but (R) is true.
fam E I :

ARTHY (A) : FIR I H HUS ik T Tl
doa |

T (R) : FST A H 3 G 2 ¢ |

(A) (A) 3 (R) T 7 & T (R), (A)
1 HE WEHWR |

(B) (A) 3T (R) 3 HE & 71 (R), (A)
T HEl TR TE B |

(C) (A) Wl g, <ifeh (R) oA & |

(D) (A) Trefd &, Sifeh (R) FET R |

The average of numbers 0.64204,
0.64203, 0.64202, 0.64201 is ;
qET 0.64204, 0.64203, 0.64202,
0.64201 =1 3ftEd 2
(A) 0.64202 (B) 0.642021
(C) 0.642022 (D) 0.642025

o
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What day of the week was on February 14,
2012 ?

(A) Sunday (B) Monday

(C) Tuesday (D) Wednesday

14 BT, 2012 31 THTE T B A1 e o1 2
(A) Tgar (B) HHaR

(C) TR (D) §HaR

If in a certain code language HOPEFUL
1s coded as KLSVIFO, then how is
CAPTAIN coded in that same code
language ?

fq fepeft ffeed e w1 § HOPEFUL =l
KLSVIFO % &9 § for@m Srm &, df 3t
% AT H CAPTAIN i 8 Feag foma
ST ?

(A) FZSGZRO
(C) FZSGCLQ

(B) GEGSRDQ
(D) FZSGDRQ

Find suitable answer in the place of
question mark.

e % o T W 3UYh I GeT |
392150 2.5 2

(A) 7 (B) 13

(€) 17 (D) 21

Choose the box that is formed from the
given sheet of paper (X).

& T8 TSt <hi Sfie (X) T ST Bl G |

To 000

X)) 1
(A) 1and2 only
(C) 3 and 4 only
(A) I 1 3IR2  (B) shael 2 3T 3
(C) FaA3 34 (D) e 1 3 4
Initially clock showed 1:30 PM, what
will the time be after 1,44,356 minutes ?
JRY H "t § 1:30 PM S ® 9,

(B) 2 and 3 only
(D) 1 and 4 only

1,44,356 TH2 < ST <=1 99T B 2
(A) 7:15 PM (B) 7:26 PM
(C) 7:30 PM (D) 8:00 PM

V0 WO NG 240 M D3RO T NDEUN) TREKDIUNC) THISEDI UMD) THLNDELM) THLINIOUNEE NGO 0 VLD UVED LD TSR DI WS NO) HLAIUNE)

U800 M 282UR03 TH KDIUNOD TREND2 L0 Tr

[¥ISUND) TNLIGOUAEE TSTUNDD THLIIZLMIY WILKDAVED TSV LUND) LNICHANTE TN SEIUNCD THLNIELMD] NN W SND 2N

TGO DGO TrU
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43.

Kunjan, Lila, Mehul, Nikunj, Om,
Priyank and Queen are sitting on a
circular dining table for a dinner. Queen
is not between Priyank and Mehul. Om
is neighbour of Kunjan and Nikunj. Lila
is second to the left of Queen. Priyank is
to the immediate right of Kunjan. Who
is sitting to the immediate right of Lila ?
(A) Mehul (B) Priyank
(C) Kunjan (D) Queen
o, <ietl, Hge, e, 31w, {3k
i @ % T Tk TR TS Suel
W B | T, s 3R Uget & < T8
% | 3T, a?: ﬁﬁ@aw@%ﬁ 7 | oftem
WH W | s, 59 &

‘cﬁasar%%l o e g1 3T 8 ?
(&) 7g ) B
(©) FH (D) el

A certain number of students are
standing in a straight line, and all of
them are facing north. Arundhati is 19%
from the right end of the line, and
Arvind is at the 15 position from the
left end of the line. Both, Arundhati and
Arvind interchange their Eositions, after
which Kirti who was 24™ from the left
end is now at the 5% position to the left
of Arvind’s new position. How many
students are there in the line in total ?

(A) 45

(B) 47

(C) 49

(D) cannot be determined.

BT S U fAfvad T v il wr o
Tl 7, 3 3 |t 1 9@ I AR |
areufd Ufth % <F ®R ¥ 199 TH W g,
3 3Rfae ufth & 91 BR & 159 TH T
2 | swuld 3t anfi gA1 3 3 TN
A H e fou, fomes are Shifd s e
BR Y 249 TH W i 39 3Rfde % U
T H S 3 59 T W R | ufeh |
P fha BT 8 2

(A) 45

(B) 47

(C) 49

(D) frutfa =& R ST a2 |

MKP
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Gamer Males who are Non-Dancer and
Indian are represented by which number ?

8 o N -7 (78 7 B) 3
R 2, fohe Tean gr giie e 8 2
1 +————— Gamer flgerdi
12 2 Dancer Fdes
—— Male 7wy
5| 8|5
7ol n
4 3
= [ndian yR"
(A) 5 B) 7
(C) 10 (D) None/sis &l

Choose the box that is similar to the box
formed from the given sheet of paper (V).
39 S 1 I 911 ST T HET i e T
T (V) ST E |

E.(iEEB
s

(©) (d)
(A) (a) and (b) only
Hae (a) 3T (b)
(B) (c) and (d) only
&Had (c) 3T (d)
(C) (b), (c) and (d) only
(b), (c) 3 (d)
(D) (d) only
(d)
At 3:30, the hour hand and the minute
hand of a clock form an angle of

3:30 91, TS I T2 HI g I o

T ST 2 |
(A) 60° (B% 75°
(C) 90° (D) 100°

Find the missing number in the given
series following the same pattern.

&l TS e H HHH Y T SE Hd
BU H H&AT 1A I |

15, 17, 23, 35, 55, 85, (?)

(A) 92 (B) 112

(C) 120 (D) 127

MKP
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49.

In the question, a piece of paper is folded
and cut as shown below in the questions
figures. From the given ogtion figures,
indicate how it will appear when opened.
W H, ST % Ueh gohg ol HIST 3TN 1T
T B, S R = T ¥ fe@mn
T 7 | feu o foskew femi |, sarsd
Wil 91 W T e few@E & |

i

(5

(B)

© || o

In the following question, statements are
given and these statements are followed by
conclusions. You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically
follows the given statements, disregarding
commonly known facts.

Statements : All the bottles are boxes.
Some boxes are bags. Some bags are
suitcases.

Conclusions :

I.  Some bags are bottles.

II. Some suitcases are boxes.

III. Some bottles are bags.

IV. Some bottles are suitcases.

(A) OnlyI (B) OnlyII

C) OnlyIll _ (D) None of these

(©) I
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Section-B / HT-9 .
Teacher Aptitude and Attitude / Reaep Srfemar v aﬁgﬁr

Suppose a teacher asks students to submit a
home assignment. Students prepare the
assignment generally as written document
and submit to the teacher. Teacher
evaluates the assignments, writes his/her
comments/suggestions in the assignments,
and returns %)ack to the students. How
message is conveyed in this situation ?

(A) Non - Verbal Communication
(B) Verbal Communication

©)

(D) Interpersonal Communication

T TG, foh Teh TTeTeh B 4 718 %1 S0
T % foTe Faar & | B IR W fafaa

TEATAS % &9 T 3THEHE d1 i & 311
Toreter 1 ST a2 | ToreTes T R Rt

T B ', TEE HE H
eoqoft/gema for@ar 2 3wl # a™
Sreran? | 3a feufa o gew 8 fean s 2 2
(A) TR-Tifgs = (B) Hifgs #9R

(C) RS EAR (D) 3iaaftheh HaR

Verbal communication mvolves
conveying message through
communication.

(A) personal appearance and oral

(B) oral and written

(C) written and facial expression

D) oral and eye contact
Hiftgeh =R ¥

wwrm e
(A) =fRTa Iufefa 3R Hifges
(B) Hiftges 3R feafaa

©)
(D) Hiftgeh 3R 3= Hueh

technique 1s used to understand
nature and behaviour of students.

g % Personal appearance

gcg Gesture

D

Eye contact
qh1eh BT IUFTT BET 5 T@UTE
3T BN sl g9 o fou e sran 2 |
(A) =afta Iufeata (B) Hal

(C) BE-HE (D) ¥ HuH

TR % 9199 9

03 W0

(U I TUGOND THUIBEUNO) TLASDMES TRETHING THLIBELM) UGN TSNS TLNTOMEE TN THUILAS UG0S

4.

SS.

S7.

During the process of communication,

barrier creates faulty expressions,

poor franslation, ambiguous words, and
nappropriate vocabulary

gA) Physical g g Socio—-cultural
C) Linguistic D

Eﬁr sri%h‘en

EIRIR W
%m% |

(A) srrﬂﬁzﬁ (B) HTHEIfSh-HEH{dH

(C) wmI-Fsedt (D)

‘Oxygen 1s regresented by O0,.°

Which type of knowledge is it ?

A) Procedural knowledge

g Metacognitive knowledge

D) Factual knowledge

SIS T 0,5 ST E I°

7 o TR A T 2 2

(A) HTsh? S

%B; qUEAHTHSD T

C) FeheHHIcHe ST

(D) d&A=TcHS TH

Which type of communication helps

individuals and groups within an
organization to communicate for achieving
established organizational goals ?

A) Inteiersonal Communication

C Small group Communication

D Organizational Commumcatlon
SEFII £l IFIT( @ WTB‘-T

a&%ﬁﬁmw@%%qmﬁﬁ
HETIAT Ll 8 2

(A) Sideafae Gar (B) fisEfthn e

(C) THER TER (D) HISHICHS HAR

Which of the following sentence is

%nc)orrect in context to learning ?

A

€Bg Learning 1s individual and not social.

C) Learning modifies the behaviour of
the individual.

(D) Learning helps to make choices in life.

ieceics q frefoifad o & & @

T oA 8 2

(B) HraHT %% amr%mqg‘n

(C) Fﬂla:n oulrh & HIER I

(D) an@mnaqﬁgaﬁaaﬁnaam%l
MKP
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Which of the following sentence is
correct for ‘Teaching’ ?

(A)

(B) Concerned with only growth of an
individua

©

D) o u1nc ction
and Encoura ement of Leammg

1 96 AT 6
ma@%?
(A)

(B)
©

(D) HieH 1 3O, ARG, e ik
e

In psychology, awareness is a concept

about

(A) the state of knowing, perceiving
and being cognizant of events

(B)

©)
(D) None of these )
T SATREehdl % TR H Th

JEYTON 2 |
(A) gﬁaﬁﬁaﬂﬁ,maﬁrmﬁﬁ

(B)
©
(D)

Teaching s

not effective when

(A) students are actively involved

(D) communication is not effectively
reciprocating

Rreqor wwreh 78 & S
(A) BT Efsha &9 & e 7
(B) ® 3 |

(©)
(D) H9R J4Tel &9 H UREH G T8 & |

[Yellow = 3M

61.

62.

is the major source of unhealthy
relatlonshlps
(A) 11 y
(B) Depression
(©)
(D) Institutional stress

TR T

1Y HA 2 |

(B)
(C) HEUTTA ST

(D) HEUWTd a1

The nature and quality of interpersonal
relationships greatly influence the
of an institution.

and

(A)
B)
(C) environment, ethos
(D) environment, life

YT Hee S T
ED 3t ;@h ExGIRS
(A) B
(B) *

(C) QTdTeRuT, &8
(D) STaTeRel, Site

Which hierarchy follows top- bottom

approach in an educational institution for

decision making ?

(A)

(B) Principal, Teacher, Director and
Management

(C) Management,
and Teache

D) T

fopeft TR # fofa o % foe @
|1 UgsEN Y- qa IS T SHE
AT B 2
(A)

Director, Principal

(B) NUMIEASH, JEATTH, Hewsh 3R
CRE]
(C) weied, Fowes, wuMIETTs 3R
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Which are the two significant and crucial

factors for an Interpersonal Relations ?
A) honesty andtest

Bg trust and respect
C) honesty and judgement
D) trust and respect & honesty and
__judgement bptﬁ

Hegi o for g1 mgegl 3k
fvTireh STk HH H & 2

(B) qHH

(C) $HMar 3R foE

(D) TavamE 3 TE U7 HHECH 3R :
ot gt

of the institution is a bridge to

maintain  appropriate  professional
relationships between staff members and
management.

A) Head B) Supervisor

EC; Director §D; Co-ordinator
M _H T

YU b Si9 3rad ATSHTEe oY ST
W H T TH g @ | |

(A) TqE (B) THa&h

(C) Ficsis (D) TH=IH

‘The SDG-4 education 2023 framework
on education emphasizes the inclusion of

modalities for the foundation of quality

education.’
What is meant by SDG-4 ?
A) Social Development Goal

Bg Sustainable Development Goal
C *
D) System Development Go

‘forem 9w SDG-4

SDG-4 %1 &1 374 & ?
(A) IR SaATHE A
(B) HEASTA STATHE A
(©)

D)
“It is the responsibility of the to

keep relationships with students focussed
on Pedagogical goals and academic
requirements”

gA) institute gB% head

C) students_ D) teacher )

“QeForeh A ST NIV STTARIRATHA

W Higd BT b AY FEYT DI ST TG
i fordier 2 17

(A) HEIH (B) FHE

(C) B (D) 3TEATIH

15
[Yellow =3M | Green=0M | Blue = IM |

&l 2023 T @
gﬁﬂ@ﬁmaﬁ:ﬁﬁ%m?ﬁi—aﬁﬁ .
A HH WAL AT R |

03w

4803 W20 M

THLMIOLA) TGOS TYUIIZUND) TLIOUSES TOTUNG) THLIDILMDT WILXODUVED TRENIIUNG) TYLLKIC NI TEEITUNED THLIKDELINDY WILOTANDD W

68.

69.

70.

Which of the following are the signs of
fostering healthy interpersonal
relationships ?

(A) mutual  respect and  shared
® responsibili

(Cg no willingness to negotiate and
engage in dialogue

(D) mutual respect and  shared
responsibility & mutual
commitment to goals both

Fretferfem ¥ e

TEHT 1 FETAT & o Hohd & ?

(A) TET M 3R AT e

B)

(C) sTe=ia EIELR] KE|
=1 1S 301 e 2 |

(D) TR _HEH 3R A a
et o foTe areeafies wfdegar gt

The teacher is responsible for maintaining

(or acquiring)  not only in areas of

personal interest but in all areas relevant
to course goals or objectives.
A
%B pedagogical knowledge
C) well defined standards
é? subject competence o

& A Al ARKA &9 & &1 H sfceh
TG o ALl AT Il b {TY, TTEATER
ey &t | 1 SATC T (A1 IH
) o fore TTeer 2 |
(A)
B) T
(C) =3t Ot | uiedTid [reht
(D) o Fman
‘A 1s based upon specialized
study and training; it provides skilled
service and Guidance for a definite
purpose to a limited section of the
population for a limited period of time
and can be practised independently or
within an institution.
(A) Profession

D)

(©) Train
ramm%ﬁ’m I gi¥reter W

AT &; I8 Hiftd s@fy & fou e
% Teh HIfid a7 o fore weh Fifvea e
3R 39 Tad &9 ¥ A1 foret geen & Hiaw
3T Tl ST FhaT 2 |

(A) T3 (B) Hiehtl

(C) freror (D) &

(B) Job
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Which of these is not a characteristic of
a profession ?

(A)

A profession renders an essential
social service.

B)
)
A profession does not demand
ossession of a body of specialized
owledge and extended practical

Qﬁﬁﬂqéwaﬁﬁﬁwﬁ%?
(A) SEER EEF GHIH Ja1 JeH
(B) ki

(C) HTHET H AT Higdl 3 |

(D) FeEd fa99 FH T
TERTIEh TeA0] o @i o 3T

1 AT TE HAT 2 |

Which of the following not

characteristic of a teaching professmn A

ORI 1w a
ractical and definite end

C) P
of se —organlzatlon

ﬁ@r o fareqor srem 6

(©)
(D) JTcH-HTA

“Professional development of teachers is !

not an event, rather 1t is a process.” This
process is in nature.
continuous

static
O D
;géﬁaﬁeﬁa-%?m% I I8 gfsha
R (B) e

(©) il ) [l

an Educationa Institution.
comrmtment to the well-being and
development of all puplls is essentially
demonstrated by a
E ; Teacher

C) Management
Teh

qEE "
HeIT ﬁtﬁm%ﬂﬁsﬁa@m :ﬂﬁzn?f
w9 Y Ueh g Yeidid <l STl 2 |
(A) JEATH
(C) wEgA

[Yellow = 3M

g
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Which statements from the below does

not show commitment of teacher

towards pupils and pupil learning ?

(A) Teachers treat all pupils inequitably
and with disrespect.

(B) Teachers treat a]l pupils equitably

:ﬁ'é Teachers treat all plglls equitably.
feu U weHi H | wH =T HH

forenfernt st foenféiai o srferm & ufa
Toreen 31 wfdagaT i TG &l hidT @ 2
(A) e T3t I oh ETY FHAH
m%aﬂtm%mww%l

(B) §
©
(D) 31%211%5 qq

HAE |

Teacher’s commitment to Students’
well-being and learning is not through

g ositive influence
C _ 4

mpathy

m?:%rlwamgﬁm@%%uﬁﬁwaﬁ

yfdergdn FUEH A TE R |
(A) HhRICHS THTE

(B) q

(C) =™ W

(D) &%l s

i o "YU gAH

What is STEM curriculum ?
Science Technology Education &
ematics

®)

(C) Science Technology Engineering &
Mathematics

(D) Sociology Technology Education &
Mathematics
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variations  are  important
consideration =~ with  reference to
dependence-independence.
A

itud
‘é e %3 titude
—~ T % -~ -
Frfe |E|IE'I€EEIEEJi fam 2 |
(A) HeiEf A
(C) 31-'3 vy

How does a student get socially mature ?

(A)

(B) A student can become socially
matured when he is exposed to
those people who are socially
{)naﬁaurg so that he can pattern his
e

©

D) one of these
Teh BT ST &9 & qiderd 8

(A)

D)
During the process of students

learn to live up to the expectations of the
society in which they live.

A
B) Social Maturity
g
&I TR % GUF B 38 FES
SRS I G 3T G & o d e @ |
(A)
(B) QR
©)
(D) h A

[Yellow =3M |

THLAIOL) TGOS TYUIIZUND) TLIOUSES TEOTUNG) THLIDILANT WILXODUVED TRENIIUNG) TYLLKICLANDE TEEITUND THLKIELIOY

81.

helps student to know what is
desirable and expected from him.
(A)
®)

(C) Allowing students to do as per their
wish (Flexible atmosphere)
(D) Providing appropriate role models

B %I I8 I | Heg il 8 6

ITY T IS 1T R T 2 |

(A) FETSEH e

(B) it

(C) BT P ITH! 3BT IER FH i
AT &1 | (GiaeTsHe aTdreRT)

(D) ITYh ST JEH T |

b
1

Who introduced ‘Play way’ meod ?
(A) Caldwell Cook (B) |

() MioHiesson
fraa ™

(D) Blooms
R (‘Play way’) ygfa i

Which factor influences that students
studying in a secondary school
understand that society does not expect
him to regress to childhood behaviour at
this age ?

(A)
(B) Self-control
(C) Stress

(D)
HHE G HRH gHIad Har g fh wh

et feme 1 yed aren o I8 dus
for THTS 399 39 39 H w=UA o HAER 6l
IR Ate hi Iufie A& htar & 7

q 1hod |l
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84.  Match the following : . ; 86. In leadership, transforms
List -1 List —1I ! potential into reality.
(Parameters) (Description) H (A) analyst (B) catalyst
a. Flexibility 1. Ability to set clear i (€) 5 (D) facilitator
expectations and ' -
parameters for s &Hdl
performance FCAGA L |
b. Holdling 2, Ablgty and \flwllmg({lessf (A) fagems (B) 3
people to adapt to the needs o ﬁﬁﬁm
accountable situations and change (C) e ) (D)
tactics 87. Match the following :
c. Managing 3. Ability to support i List—1I List — IT
Pupils Eggélrignc% ] deeg; them | (Leadership Myth)  (Description)
) independent learner .
d. Passionfor 4. ability to provide clear a. Everyone canbea 1 Rarely
Learning direction and to ' leader.
fﬁég‘:se and motivate b. Leaders can deliver ii. Not
Preferf AR e - , results. necessarily
‘Q}'ﬂ I il : II c. People who get to  iii. Not always
(IIFETS') - the top becomes
ToTa esH < leader.
& L m%@%%%gw d. Leaders are great  iv. Not True
b wmiE 2 uRferfEl f v ® ; Cgaghes 1 i
BEIECH IFA BH 3R WHIA See I
3BT <1 &FmaT 3R =1 @Qﬁﬁ?ﬁﬁ)
c. feranfeft 3. %mﬁﬁra‘ﬁmwﬁaﬂt a gaﬁ%ﬁmmm k. “HPRETHAI
I JAYq SATcAfeRaTE Tads e
““’:‘ﬁgﬁ*ﬁﬁ@ﬁﬁ b. A RO G ERA S | i mﬁmw
d HEA®H 4 T TeH
P gﬁawﬁﬁﬁaw cﬁﬁa?tmqgaﬁm@f ii. gﬁrenq‘a
&aqar .
) P g %m"g“'“'s'&'q;gﬁ iv. AL
(®) — (A) d-ia-ii b v, c- i
C)c-3,d-4,a-1,b-2 R
(D) d-4,a-2, b-3,c-1 (B) BErESiE

C) a-1v, b-1ii, c-1i, d-1
85. Which of the following defines the gD; R
concept of leadership ? ? 2 3
(A) mfluence, crucial, expectations
(Bg influence, ex ectatlo, )

(C

88. Use of ICT for quality education was
highlighted by
(A) NCF-2005 (B) NCF-2009

(C) NEP- 1968 (D) MT)%

‘R am YehT3T STAT T AT |
(A) THHITE (NCF) -2005
(B) TAHITH (NCF) -2009

(D) influence, voluntary effort, goal
achlevement

T 91 AGcd HI ST
qﬁ‘mﬁam%?

(A) e, fores, 3ufie
(B)amauﬂém ©

©) LSSl (NEPi-1968
I, e IucATed D)

(D) 4T,
MKP 18 o
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Below given are the strong basis for

leadership development Mafch List = I :

with List IT :
List-1 List-1I
. Responsible 1. Possess a long term plan
Leaders for their school as well as
career and personal life.
. Focus 11. Take psychological
ownerships for their actions.
. Ideation 1ii. Needs recognition that
goes with success.
. Credibility  1v. constantly feeding their

minds with new ideas.

%I@I;ﬂ%nﬁgﬁ%ﬁm
a.lélgaﬂ i 6 lg-lé -4

Jar SATSHereRT 3T SAfRTd Sied 6
. oI weh SEpTfor AeFT T |
b. shigd ii. :ﬂ%ﬁ%%ﬂﬂﬁéﬁﬁ%
HET A o |
c. JUEAT  {il. T8I i SEd BT 8 S
W%maﬁﬁ%

d. ferama lvwnan % feamm =i
) AR |

ﬁl a- b- -1vd il
C) c- ’-La wg 11
d-llll’a 1b-1V — 11
followin
characteristics of leaders

educational system ?
1. lead by example and mspiration.

are the

1. guide personal programs, but rely :

on his decision.

. produce  cohesiveness
which co-operation 1s impossible.

v. don't resolve differences which arise m

wing organisation because priority is
%0 growth of the organization.
v. contribute to the group by

advancing useful suggestions. )
St & # :%rﬁﬁ q

Wﬁﬁmaa@a% .

" e g G 0 |
iii. TR 3= B foeh o Team

3E9E 2 |
iv. EE?I | T A
o
v. 39ERT gemat @l

3
@ (o)

2

i, 111, v
11, 111, 1v

FFIEH
L i, 1v

L, 111, V

ip In an :

without

03w

N\ TR MUGDIM TUBUNO? LGRS UG THLGELAR1 TLXDINO THGHLAGS LGN ISHUNO TIUHELAG! 00 W

91.

93.

The communication of leader’s vision,
making his/her dreams apparent to
others and aligning people with them is

{A) Management of Attention

(g Management of Meaning

ng Management of Self )
EGl 1 FAR, 31 AT I
TERT < HIH Wohe HT ST AT B 3
EICEE I I

(A) BEHH T (B) 37 1 TEEH

(©) (D) & 1 JaE

Which are the most essential factors in
leadership ?
follower leader and situation

gB; follower, situation
©

and
communication
(D)

Iea!er !ollower situation and

commumcatlon

R
(A)

(B) feufa st E=m
(©) .

(D) 3R FAR
Evaluat1on that monitors the learning

progress during teaching is
A

B) Placement Evaluation
C) Formative Evaluation
D

&

Diagnosis Evaluation
S T Gt g1
(B) He b

Tt s R
(C) 3AfRa (formative) HeaTeh
EGUEED

D) HedATh
According to Kohlberg a teacher can
(B) Giving strict punishment
gg Discussing moral issues with them
teac ng

agn we foreres feenfomi #
ﬁﬁﬁ; tﬁﬁ T W
(A)
(C) 3eh |1Y Afdieh Yei 9T ==l T |
(D) @rftieh T =1 Hgcd &1 |

mstill moral values in students b

(A) d
lemg importance to religious

(B) wﬁw% |

MKP
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95. The word communication is derived from

latin word ‘communis’ means
(A) To make common

(B) To share

(C) Tolexchange

(D) To know

TR I e I8 Wﬁa q
mw%mm (comtlnunlS)

(A) amaqﬁ%s%q

How students can decode the message i

sent by an audio programme ?
(A) Through visualization
(B) Through demonstration
(C) Through understanding
(D) Through interpretation

Given below are the components of :

communication process. Select the

appropriate sequence.

(A) sender, receiver, feedback, noise

(B) sender, receiver, medium, noise,
feedback

(C) sender, message, medium, receiver

(D) sender, message, medium,
receiver, feedback, noise

Fem gk % weh A feu | Sugw
SHH o1 T L |
(B) Jweh, Tdehdl, HIEZM, IR, Wfagf®

|Yellow = 3M
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100.

the
by the

Communication  starts  with
conceptualization and
sender.

(A) development of an idea
(B) development of message
(C) transmission of message
(D) receiving of message
TER YN gRI Hohoddl IR F I®
AR |
(A) fomm % fawm (B) Hesieh e
(C) Eegih G0l (D) TS ITH AT
communication carefully
plans the message and delivers it
effectively so as to invoke self-
communication among students.
(A) Intrapersonal (B) -
(C) Non-verbal (D) Interpersonal
HER FEEH 8 FG ol ASHT
T 2 3TN 38 TR & IgaT @ qeh
fﬂa‘r % offe 3TeH-T=R 1 3ATEaH fohan

ST H |

(A) TREmics  (B) i

(C) W-vifgs (D) Siqaates
Suppose you plan to teach a content
(concept) using an audio programme.
Then, you have to write the script
required for the audio programme. So,
the content to be transacted in the
classroom is into script.

(A) Encoded

(8) Décoded
(C) Both Encoded and Decoded
(D) none of these

3qdll|m@ (W)'cﬁ[
TgH I AT 9 W@ 7 | TR, m
il 'W’.Wﬁaaﬁmm
_ fafemg
(A) T=hIeS
(B) EiHIES |
(D) 38 A HIE TE

o
[Blue=1M



101.

102.

103.

104.

10S.

106.

PTETRAJ2024.COM

Section—-C / ¥ -9
General Awareness / §TH STFTRs<hdl

Which of the following presents the
most significant feature of the Indus
Valley civilization ?

gA) Burnt brick buildings

B) First true arches

(C) Buildings of worship

%)%%A%%nd architecture

o g |1 &y ardt g 6
ey wzc—ugi TR SR el @ 2

(A) et g8 $2 1 3aRd

(B) & ITidAtareh Hea

(C) YT 1 3HRd

(D) hell TR ITEgehedl

The Brahmanas are books that deal with
(A) the Bhakti theory (B) ritualism

(C) yoga . (D) meditation
wuéﬁa é@m% as%?ig%ﬁ

(A) (B)

(C) ImH (D) &H

The paintings of Ajanta depict stories of the
(A) Ramayana (B) Mahabharata

(C) Jatakas D) Panchatantra
3Tl o ot fohereht wl faba s ?
(A) THI (B) Het™HRd

(C) STk (D) Y=dA

Freedom fighter Shri Surajmal Basaniya :

belonged to .

%A) Bikaner (B% Banswara

C) Jaisalmer (D) Jodhpur
T T 2 G S 6 Y |
(A) R (B) SiEaTel

(©) ) |
The Ashoka pillar at Allahabad provides
information about the reign of

gA) Chandragupta Maurya

B) Chandragupta I

?C) Samudragupta

D) ChandraguptaII

SATETETEG Y ST
% SR H THHRI TGH 1 2 2

(A) <gE T (B) =IZTH JeH

(C) "9z (D) =g Tt

The mighty gateways found at the
temples of South India are called
(A) Shikhars EB) Gopurams

(C) Minaras D)_None of these
i ard U S
sri%ﬁsﬁqrrf\?f;liT JoSTER HEAT &

(A) (B) M .
(C) HAR (D) ggaﬁéqﬁ

)
E
§
g
E
i
§
4
i
§
F
H
]
4
§
13
§
1
g
8
E
i
F
H
14
g
E
g
F
H

DTN N3 U TR ADIUNO) TR 0 TR

ISUND) TNLNGOUAEE TSOTUNDI THLIDELMII WILGDANED TRVIILUND) TYLIDIAT0 T SEDIUNCO THLNIELANDI WILDUNC) T NDI M

TGO DGO TrU
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107.

: 108.

109.

110.

Which of the following ruler known as
“Abhinav Bhartacharya” ?

(A) Rana Pratap

(B; Rana Kumbha

(C) Hem Chandra Vikramaditya

D) Maharag'a Suraj Mal
¥ fopg wEh 1 “fHd

AR o T & ST ST 2 2

(A) TOTT JaTd

(B) Trom 41

(C) wweig ferspmieed

(D) HERIST SHA

The ‘August Offer’ of 1940 sought to

conciliate the Congress by guaranteeing

(A) the setting up of a representative
Indian body to frame a new
constitution.

B) gﬁ)vernment’s. assurance to protect
the political rights of minorities.

(©) tInh':llt_ there would be no partition of

ia.

(D) that separate electorates would not be

provided for the degressed classes.

1940 % “3FTET FETa &1 TR

SR HIF H FHSATAT B hl DI 6! |

(A) T T Gfead s % faw
faffer W fepr shi s

(B) 3TcYEETH] & TSTHITdeh JTeRRI <!
&1 o ToTQ T 1 ST

(C) YRA HI 1S A9 & grm

(D) gfera =i s fore e fratees Hee
g &1 fohaT Sem

The northernmost limit of India is

(A) 36°4'N latitude (B) 37°8'N latitude

(C) 37°6'N latitude (D) 36°12'N latitude

I <hl T Il Hi

(A) 36°4'N T

(B) 37°8'N &Il

(C) 37° 6 N H&fmI

(D) 36° 12' N 31aTm

World’s Longest Highway Tunnel above
10,000 Feet located on which national
highway ?

(A) NH3 (B) NH8

(C) NH 12 (D) NH 18 )
10,000 2 & F fova hit gea @l
T g fohe g et o fea 8 2
(A) TS TSN 3 (B) TEE THM 8
(C) UYMW 12 (D) TF™ THAT 18

MKP
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What is the most important characteristic
of the islands (Indian) located in the
Arabian Sea ?

A) They are all very small in size.
They are all of coral origin.
They have a v
Theyare exten

ansofthemamland
3T 9rR § fRd @% () hi gem
HEEqUl forRivar &1 7 2
(A) 3| 3R § 550 B 2 |
(B) émﬁuamtla%%l

-
IR F LR EE

D)
In the heart of the Intertropical

Convergence Zone in the northwest, the
dry and hot winds known as ° ’

fA; Loo %; Mango Shower
C) Nor Westers Blossom Wind

I~ AR FAE

¥ % g H, Yh 3R M gensh #
é > % ® 3 ST AR

(A) G (B) BT 9met

(C) AR I%eH (D) et fag

India is the world’s largest producer of

dry climate.

(A) Groundnut (B) Wheat

(C) Rice (D) Pulses

IR H1 fova &1 e« |
WTQ? § |

(A) Hrmett (B) ﬁi

(C) =raet (D) e

Tumallapalle, where huge reserves of

B
Tamil Nadu ng%

ST &, ﬁmﬁf@a o fopg Tsa B @ g 2

Which of the following state has area—

(A) Madhya Pradesh

(D) Andhra Pradesh

TAEAR?
(B) TSI

In which of the following states,

Uranium are found 1s situated ?

g g Jharkhand Kerala

C Andhra Pradesh
AR g

(A) ITEE (B)

(C) aftrerrg (D) 3T T

wise the largest forest cover in the

country as per FSI 2021 ?

(B) Gujarat

(C) Karnataka

FSI 2021 % 394R, Fr=fafaa 4 9 fra

T 1 SFhet & TEHTe T <1 1 T el

(A) T S

(C) & (D) 3T T

MKP
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117.

118.

119.

120.

121.

The Ahom tribes migrated from
(A) SriLanka (B) Afghanistan

(Cl Myanmar (D) Iran
3TE™ SFSTTfeat “@f’;laTﬁqagé ?
(A) ATt B)
(ORSILLN (D)

Which of the following was the first
Indian woman who went into space ?
(A) Shirisha Bandla (B) Sunita Williams

ﬁC) Koneru Hu%y (D) Kalpana Chawé'?)r

ST 37afer | T oft 2
(A) T sgen (B) Ftan fafera
(D) sheadT FEe

(C) HHE Bt

Who of the following never became an
Acting President ?

(A) V.V.Grri (B) Zakir Hussain
C) B.D. Jatti (D) M. Hidayatullah
T | B HHl HREES TPAfd
&1 &1 ?
(A) =4t fii (B) et 884
(C) .Skl (D) . fEgEgeae

Who of the following ladies is popularly
known as “Grand OIld Lady” of the
independence movement ?

(A) Sarojini Naidu

(B) Sucheta Kripalani

(C) Aruna Asa Ah

D) Annie Besant )
%trl%rﬁaa. 4 8 foem Afee @1
eI H “Ig 3Teg g % ®9 T TET
wglzrﬁﬁ A1 FIA
(A) g (B)

(C) 3TN 3E® eAi(D) T 9@
Which person is called “Bird Man of India” ?

Ag Salim Ali
(B) Dr. Rahendra Prasad

(C) Dr. Srikrishna Singh
Salman Khan

)
1%:@6&1%5 ! A 1 &S B gl AT & 2
(A) Tl 37t (B) Si. &g 4 Ie
(C) . *fipwn fifg (D) He9H @H

Amjad Ali Khan is associated with
which of the following musical
mstruments ?

A) Guitar B) Veena

éC; Sitar D) Sarod

3M9Tg 37l @H ¥ fopg o
I Y Heea & ?

(A) firer (B) <fom

(C) faar (D) TG
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Yamini ~ Krishnamurti is an
accomplished exponent of
Bharatnatyam

gA Kathak %g
Cg Odisi None of these
?@T%ﬁﬁaw Sfearesh &

(A) HIH (B) HIGHTCHH i

(C) sfedish (D) FTH & s el
1s famously known as Flying Sikh.

(A) Maninder Singh(B) Yuvraj Singh

(C) Sandeep Singh (D) Milkha Smgh
E7| %ﬁm ®Y T FoATST g b AW

T ST S ﬁ%qgl fim

(A) Tfet (B) 1

(C) gqufee (D) %ﬁz

The first Indian Scientist to win a Nobel

Prize was

A) Amartya Sen

B) C.V. Raman
C) Hargobind Khorana

D) Subrahmanyan Chandrasekhar
TR SHIcH 1ol 8ol Hd

AR A
INELSEE (B) @&t wa

(C) BuTfeg ww (D IO TG
Wﬁo 1s called as Shaj(eg‘.peare of India ?
g Mahakavi Kalidas

C

Rabindranath Tagore
IE\;/Iﬁ)theEél Teresa
arathiyar
e BT AT 8 2
(A) W@ Hicia™ (B) gAY SR
(C) HeT @l (D) WRIGER
ich of the following is the primary

a&enda of the Kyoto Protocol ?
(A) Control anthropogenic sources of

ﬁreenhouse gases

Bg egulation of hazardous wastes
§C Regulate the production of nuclear

energly ] )

D) Regulation of Global warming_
%rclﬁrﬁ@?r_ﬁ ¥ M |1 FN TerhidA
(A) THERE T4l o AHaS-a Hidi i

Rt |
(€ T 33 8 S 1 e
(C) 9w JcdTed |
%_@aﬁaﬁnm i ,
ich are the main pillars of “Namami

GangS ” project ?
gé ewerage Treatment Infrastructure
C

River-Front Development

River-Surface Cleaning

All of these
Tr‘ﬁv

D
: FTATIIAE?
(A) T TR —GTEHT
(B) T@t-vhe foemmd

(C) Tor - wag awig

(D) FEf

V0 WO NG 240 M D3RO T NDEUN) TREKDIUNC) THISEDI UMD) THLNDELM) THLINIOUNEE NGO 0 VLD UVED LD TSR DI WS NO) HLAIUNE)

DTN N3 U TR ADIUNO) TR 0 TR

ISUND) TNLNGOUAEE TSOTUNDI THLIDELMII WILGDANED TRVIILUND) TYLIDIAT0 T SEDIUNCO THLNIELANDI WILDUNC) T NDI M

TGO DGO TrU
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128.

129.

130.

131.

What is Ramsar Conservation ?

(A) It 1s about conservation and wise
use of wetlands.

(B) It is about conservation of forests.

(C) It is about conservation of mineral
resources.

(D) None of these

A) I8 L IEEE i
: )W?ﬁn%‘oﬂiﬁ%l

(B) TR TV H AR AR |

(C) I8 @S FETEHI o T 6 LA E |
(D) 3T H IS AL

Which of the following Acts, deals with

the rights of the communities that dwell

m forest over land and other resources ?
(A) Indian Forest Act, 1927

(B) Forest Rights Act (FRA), 2006

(C) Indian Forest Amendment Act, 2019

g?g‘%%l;o.fthese

ad § 8 M | AtiEm, g 3
31 YT 9 S H @ 9Tl 9gerEi
ARl & FEfd g 2

(A) YR 39 Aff=m, 1927

(B) = iR sfafam(FRA), 2006
(C) W™ o7 |9me 1M, 2019

(D) 378 H IS TE

Which of the following 1is the
convention to protect ozone layer ?

(A) Basel Convention

(B) Bonn Convention

(C) Vienna Convention

(D) None of these )
3T 9 6t 8 o fore frefofaa 3 @
I T T 8 2

(A) SHATEEH  (B) S gHOH
(C) faamadem (D) 379 9 IS &l
Which of these gases is not permitted to

be released beyond certain limits by the
Prevention and Control of Pollution Act

by the Government ?
(A) Sulphur dioxide (B) Carbon dioxide
(C) N1 (D) None of these

e ST Bt Sl ST TE & 7
(A) T RIS

8 T

C

(D) FHYHE T

MKP
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What is the impact of climate change on
forests ?
é Increased biodiversity
C
Increased wildfires and pest outbreaks
ST T ITE IS @3 2
(C) hTeH guFhTT H 9fg .
(D) ST i 3TRT 37R hIe 6 Th1d H gfg

Increased productivity ]
Increased carbon sequestration
(A) Sa-fafaear d 3fg
(B) 3careehdl H g

Acid rain corrodes the marble of the
monument. The phenomenon is also
called .

(A) Marble growth (B) Marble evolution
(C) Marble cancer (D) Marble warp
A AN TR o HTHUR Sl HTd
Al 8 | AT I FE A E |
(A) FTHHLY (B) ST faehme
(C) TR (D) TR

Which of the following is not a heritage
site as per UNESCO list ?

(A) Keoladeo National Park

(B) Jaipur city

(C) The Jantar Mantar

D) Bikaner Fort '
e T ek o et i B

JTHT Teh forrea T e & 7
(A) acTied TEE 3TH

(B) I I

(C) S He

(D) steRT o1 fepet

What is the State Dance of Rajasthan ?
(A) Mundari (B) Ghoomar

(C) Bhangra (D) Powada
TSR 1 T A T8 2

(A) i (B)

(C) wrTeT D) .

art of Rajasthan is a minute
painting on glass using gold.

(A) Devra (B) Thewa

(C) Phad (D) None of these
TSI e T Exy
g T T GeA Fermeprdt (fie ufem) 2 |
(A) U (B) o ,
(C) % (D) ¥4 § s TE

MKP
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Which of the following rivers drains into
Bay of Bengal ?

(A) Ghaggar (B) Luni

(C) Mahi (D) Chambal
Frafafaa o 9 = @ 76 e F @
Tt 22

(A) TR (B) I

(C) =& (D) =it

In which district of Rajasthan, Kalibangan,
a pre-historic site, is located ?

(A) Bikaner (B) Jaipur

(C) Jaisalmer (D) Hanumangarh
TfcraTiéeh T HIeierH TR o fhe
ferafeas 2

(A) ST (B) R

(C) g (D) BFHFTG

What is the tagline of Rajasthan Tourism ?
(A) Land of gods

(B) God’s Own Country

(C) The Incredible State of India

(D) Full of Surprises

TSTEATH T h ITEATS o1 2 2

(A) oI 3T TgH

(B) TgH 3TH el

(C) T 3hfeael W 3T sfea

(D) et HATH TSI

Who was defeated by Rana Sanga in the
battle of Khatoli ?

(A) Ibrahim Lodi (B) Akbar

(C) Sikandar ‘Lodi (D) Babur

Ttell % Jg | Tom A 3 ford g 4 2

(A) SEH A (B) 3hsH
() fapqt e (D) aTeR

The Tejaji fair is held every year at which
of the following places in Rajasthan ?

(A) Bhiwadi (B) Udaipur

(C) Beawar (D) Parbatsar
TSI Tl B AT Ty § Feforfiga o
T fope T W SISt foham iman & 2

(A) e (B) 3eIL

(C) TR (D) WEdER
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Rajasthan became the first state in India
to surpass GW of cumulative
large-scale solar installations.

TSTEA A 61 I8dT UHT T &4 T @

e w2 Y99 W g=l d@i ufasE %
GW I IR o R 2 |

(A) 15 (B) 10

(C) 20 (D) 23

Sports For All (SFA) sporting services
joined as the powered-by sponsor of
which event ?

(A) Women U-19 World Cup

(B) Khelo India Youth Games

(C) FIH Women’s Hockey

(D) Khelo India University Games

uﬁzggw T (SFA) wifen afoe form
TS ST T o & 1 FM11e § 2

(A) ST - 19 T8 HY

(B) et 3feam g2 e

(C) THHATSTH FH &bl

(D) @&l shean FHarel

VAYAM RAKSHAMAH (We Protect)
1s the motto of which armed force ?

(A) Indian Coast Guard

(B) Indian Navy

(C) Indian Air Force

(D) Indian Army

IIH TTHE (89 1871 Hid 7) foper wme &
Bl ~aTT B ?

(A) YR q2 1876 (B) WA A&
(C) 9RAF S BT (D) AT BT

Under which scheme of Rajasthan
Government, 12 sanitary napkins are
being provided free of cost every month
to women and adolescent girls for better
health management of women ?

(A) Udaan (B) Shakti

(C) Pankh (D) Pragya

TR TR 61 fhd a5 & d&d
Aiganall & S8 WA Yaud % o
afgenall i fRifaEl # & @R 12

Bfedt Jufer gud yem ferr @ 2 2
(A) SgH (B) wifth
(C) vd (D) ST

V0 WO NG 240 M D3RO T NDEUN) TREKDIUNC) THISEDI UMD) THLNDELM) THLINIOUNEE NGO 0 VLD UVED LD TSR DI WS NO) HLAIUNE)

DTN N3 U TR ADIUNO) TR 0 TR

ISUND) TNLNGOUAEE TSOTUNDI THLIDELMII WILGDANED TRVIILUND) TYLIDIAT0 T SEDIUNCO THLNIELANDI WILDUNC) T NDI M

TGO DGO TrU

h
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In which of the following cities, Ayush
Ministry organised Scientific Convention
on World Homeopathy Day ?

(A) Jaipur (B) New Delhi

(©) Bhopal (D) Shlmla )

F—rcrﬁwﬁaa a;n%;w
ﬁaa T

(A) rﬂgt (B) & feeedt

(C) HITeA (D) famen

Which of the following airports in Karmataka

was naugurated by Prlme Minister Shri
Narendra Modi on 27 February ?

(A) Mysuru Airport

(B) Kempegowda Airport
(C) Mangalore Airport
(D) Shivamogga Anport
27 W H TgEEE] A
FAtes ° fafafaa 9 4
1 IgaTe o T ot ?
(A) BgE FE-31g1

(B) ShelieT Eas- 37gT
(C) HTTEA BaTE - 3781

(D) forawmm gars- 3781

Which country 1s known as a tax haven,
has introduced ‘Federal Corporate Tax’
for the first time ?

e
form

LG
sa'rs‘a%

(A) Finland (B) Mauritius

(C) UAE (D) Switzerland

5| %sr i o 7o o 9 H THT 91T 2,
o ueell O Het@ HURe

e feRam B 2

(A) i (B) Hiiw™

(C) =eh 37 31a (D) feaeseie

Which city is the host of ‘5 ASEAN-
India Business Summit’ in 2023 ?

(A) Nlelzlvk Delhi (B) Kuala Lumpur
(C) Dhaka (D) Singapore City
S G W& 2023 T 59 angm aRd
SATIR TR - 3T HoaH & ?

(A) 8 feeett (B) HIATATAL

(C) @reht (D) AL
TLMAL is a joint venture between India’s
Tata Group and which country’s counterpart ?
(A) USA (B) Israel

(C) France (D) Japan

TLMAL ¥Rd % 2121 T8 311 fohdl <91 %
THh o ST Ueh HYh 3T & ?

(A) quHET (B) S

(C) »E (D) S9™

MKP
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Section-D / ‘}T‘T—a
English / 380

Which sentence contains an infinitive ?
A) She gave him the book.
They made dinner for themselves.
C) To sing is her passion.
)) He saw the car accident.
Fill in the blank using appropriate forms
of the verbs out of the given options :

Not only you but your friend also

to be blamed.

§A; 18 gB; are

C) has D) have

Which sentence contains an appositive ?
A) The car is blue. ) -
B) My friend, a doctor, is coming to visit.
C) She runs every day.

The movie was emotional as well as

thrilling.

Which sentence contams an indirect object ?
A) She bought a very nice book.
B) They showed him the way.
C) He played football. ]

The flowers bloomed beautifully.
Fin(i1 out synonym for the underlined
word :

Petrarch cultivated his fame and was the
first genuine literary celebrity.

A) developed B) sequence
§C§ despairp ng decrlnonstrated

. Which sentence contains a transitive

verb ? )

A) The bird flew away.

B) She slept soundly.

C) The children played in the park.
D) He ate the pizza.

Which sentence contains a co-ordinating

conjunction ? o ) )

(A) The sun was shining brightly in the
sky since there were no clouds.

(B) She had a headache, but she
continued to teach her students.

(C) After she had finished her work, she
went for a walk.

(D) He is tall, dark, and handsome.

Department for military stores
supplies is known as

A) Ordinance (B) Ordnance
C) Ordination (D) Ordinary

Which sentence contains an adjective
clause ?
(A) The girl who won the race was very

happy.
(B) He rode his bike to the store that
E}g; was very near to his house.

She sang a song for the class.
We ate pizza and watched a movie.
Which sentence contains a gerund ?
A
%

and

He enjoys running in the morning.
She is readln% a book.

They played fennis after school.
The bird sang a beautiful song.

s
f
F
§
§
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163.

164.

165.

166.

167.

168.

169.

170.

“War and Peace” is a book by Tolstoy.
gA; write 8%% written
C
The car was driven bK my brother.
Which sentence is an imperative sentence ?

wrote writing
Which sentence is an active sentence ?
She sang a song for the class.
The movie was watched by
%A; I think we should go to the beach.
B) Please turn off the lights when you

A) The cake was baked by my mother.
C
D :

everyone in the theatre.

leave.
g; He is reading a book about history.
They played basketball in the gym.

Put the correct word from the options :
I have been waiting here the last

two hours. .
(& W o o

Which sentence is a declarative sentence ?
A) Can you pass the salt, please ?
What is your favorite colour ?
C) Thesuniss
Wow! That
performance!

Identify the complex sentence in the
following options.
%g The dog barked and the cat ran away.

She went to the store after she
finished her homework.

(C) He 1s a great athlete who also excels
in academics.

(D) They played soccer for hours and
then had a picnic.

ing today.

was an amazing

Which sentence is in the interrogative form ?

A) The movie was very entertaining.

B) She went to the store and bought
some milk. )

&(3; What time is the meeting ?

He ran three miles this morning.
Which sentence is a simple sentence ?
%; The dog barked and the cat ran away.

The sun 1s shining and the birds are

smgmn%

(C) I walked to the store and bought
some milk.

(D) She loves to read books and
magazines.

Which sentence has

agreement error? .

g}i The boy and the girl is w: to school.
C

a subject-verb

The flowers in the garden are blooming.
He has two sisters and one brother.
She sings and dances on the stage.

She my request for travelling
together to UK.

gAﬁ turned down B% turn off

C) turn on turn out
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‘So.... that’ and ‘Such.... .that’ are the
hrases which express ;
A) Adverb clause of noun
B) Adverb clause of verb
C) Adverb clause of manner
Adverb clause of result

Which is the correct active sentence of

the following passive sentence ?

I was taken to the public library by my

sister before I was able to read.

(A) Before I was able to read, I was taken
to the public library by my sister.

(B) Before I was abled to read, my
sister took me to the public library.

(C) Before I was able to read, my sister
took me to the public library.

(D) I was taken to the public library before
I knew how to read, by my sister.

Give one word for : Irrational fear of crowds

gA) Sitophobia ?B; Ochlophobia
C) Astrophobia (D) Claustrophobia
Choose the correct verb for the
following sentence :

Either the manager or the associates
the merchandise.

orders
order
1s suppose to order
are supposed to orders

A/An is a word of exclamatory,
expressing a sudden feeling or excitement.
$AI; yerth %) adverb

C) interjection ) noun

“The sun smiled down on us.”
The above is an example of
A) Irony

1(3:; Metaphor

Personification
D) Both (Metaphor)
(Personification)

Choose the correct meaning of the
idiom or phrase given :

To make clean breast of

3A To gain prominence

and

B) To praise oneself
C) To confess without of reserve
(D) To destroy before it blooms

Choose the one which best expresses the
ﬁ/llven sentence in Indirect speech:
anna asked Rohan, “Have you sat in a

trolley bus before ? _

(A) Manna asked Rohan had he sat in a
trolley bus earlier. _

(B) Manna asked Rohan had he sat in a
trolley bus before.

(C) Manna asked Rohan if he sat on a
trolley bus before.

(D) Manna asked Rohan if he has ever

sat in a trolley bus.

V0 WO NG 240 M D3RO T NDEUN) TREKDIUNC) THISEDI UMD) THLNDELM) THLINIOUNEE NGO 0 VLD UVED LD TSR DI WS NO) HLAIUNE)

DTN N3 U TR ADIUNO) TR 0 TR

THLMIOL) TWUGOUND TEUNIZUND) TLITOUSES TEAOIUND) THLIZLMDI WLXODUMED TRENIIUND) TLLNGCLAEE TETUND THLIBIELMDT WILKDUNED WETUNC)
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179.

180.

181.

182.

183.

184.

18S.

186.

187.

Find the correct word to complete the

following  proverb and  familiar
expression : ]

Strike while the is hot.

2A iron water

C) metal D) book

Choose the most appropriate articles for
the given sentence:

heavy rainfall last week was
disaster to crops that were already 1n

dismal state. _

(A) No article required, an, no article

required )

no article required, a, the

Which of the following best expresses
(A) " What I mean is that understood by
ou?
you ?
interrogative sentence ?
B) g\éa(si f)le/ not to do/ a villain/ such a

B
ggi The,a,a :
The, no article required, the
the same sentence in Passive Voice :
Do you understand what I mean ?
ou ?
(B) Was what I mean understood by
&C); s what I mean understood by you ?
What I mean is understood by
Which of the following options has the
correct order of words to form an
(A) A villian /was he/ not to do/ such a
deed ?
ed ?
(©) %—Ie wag / a villain/ such a deed/ not
o do ?
(D) Was he/ not a villain /to do/ such a
deed ?

No sooner had she read the telegram
she fainted.
}KE then 8% than
C) therefore there
What is the meaning of the word
‘vernacular language’ ?
A) formal language
informal language
C) foreign language
D) native language
Use suitable prefix to make the opposite
of the given word :
Contented )
CENN:E
C) into D) dis
Which one of the following 1S an
example of “Collective noun” ?
B
Milk

§é§ Feggration

Which word is an antonym for
i %enerc_)us’ s )
stingy §B; charitable
gC; kind-hearted (D) benevolent
MKP
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Read the passage given below and answer the
uestions from 8ue. No. 188 to 192 by
choosing the answers from the given options :
Reading is an essential skill that students
need to develop in order to be successful in their
academic and professional lives. It is important
to remember that reading is not just about
decoding words on a page, but about
understanding the meaning behind those words.
Reading comqrehensmn is the ability to
understand, analyze, and interpret what you read.
There are several strategies that students
can use to improve ther reading
comprehension. One of the most important
strategies 1s to preview the text before reading
it. This means looking at the title, headings,
and any pictures or graphics to get an idea of
what the text is about. Another strategy is to
ask questions as you read. This can help you to
clarﬂ;y any confusion you may_ have and to
stay focused on the main ideas of the text.

It’s also important to note that reading
comprehension is not just about understanding
the words on the page, but also about making
connections between the text and your own
experiences or knowledge. This can help you
to remember the information better and to
apply it in different contexts.

Finally, reading comprehension is a skill
that can be improved with practice. The more
you read, the more opportunities you have to
develop your comprehension skills. So,

whether you’re reading for pleasure or for

work, take the time to practice and improve
your reading comprehension skills.

188. According to the passage, what is
reading comprehension ?
(A) The ability to read words on a page
(B) The ability to understand, analyze,
and interpret what you read
(C) The ability to read quickly
(D) The ability to write about what you read

What is one strategy students can use to

improve their reading comprehension ?

(A) Only read the first and last
sentences of each paragraph

(B) Skip over any pictures or graphics

(C) Preview the text before reading it

(D) Only read texts that are easy and
familiar

Why is it important to make connections

between the text and your own

experiences or knowledge ?

(A) To confuse yourself

(B) To remember the information better
and to apply it in different contexts

(C) To ignore the text

(D) To make the text more difficult to
understand

189.

190.

MKP
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191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

According to the passage, how can

reading comprehension be improved ?

(A) By avoiding difficult texts

(B) By onlyreading for pleasure

(C) By practicing reading

(D) By skipping over any pictures or
graphics

What is the main idea of the passage ?

(A) Reading is an essential skill for
success.

(B) Students should only read texts that
are easy and familiar.

(C) Previewing the text is not an
important strategy for improving
reading comprehension.

(D) Making connections between the
text and your own experiences is
not  helpful for  improving
comprehension.

One should oneself to whatever
circumstances one 1s placed in.

(A) adapt (B) adopt

(C) adept (D) acquire

What is the meaning of the word
‘quintessential’ ?

(A) common (B) ordinary

(C) typical (D) exceptional
Socrates was wisest of Greek
philosophers.

(A) the B) a

(C) an (D) no article

Which of the following is an example of
a preposition ?
(B) happy

(A) sing
(C) with (D) quickly

Which of the following is an example of
a conjunction ?
(B) because

(A) of
(C) beautiful (D) this

Select the word for the study of rhythm,
sound, pause, stress and pitch features of
a lanl%uage particularly in poetry and
speech.

(A) programme
(C) prospect

(B) prosody
(D) protagonist

Which of the following is an example of
a possessive pronoun ?

(A) my (B) her
(C) its (D) all of these
He is here, ? Put question tag

(A) didn’t he ?
(C) isn’t he ?

(B) won’t he ?
(D) needn’t he ?
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Section-D / HIT-¢

Hmdl/%r_(ﬂ

g%ﬁamﬁw—@uwaﬁ -9g 7, 6L
- Fd-Ne :

(A) 99 - A -"8 L 162
B) & -= ES RIS §
(©) %q—%n o - veid %
o %ﬁu aﬁﬁggﬁam |
BYA qx E HEEd |

(A) ?ﬁwtrﬁaﬁaaﬁ Eags e} i 163.
(B) Wmaﬁﬁa@aﬁmﬁ
©)
(D) ﬁatﬁag

M IAAT H AT

(A) =TT ﬁ%ﬁ;m

(B) T HTH BT

(C) fearen Feern

(D) HET

freafafaa ° 9 forg fashed & Tt i §
T AU I (SHT) T AT ZIT 2 2
(A) HivHE, Frfee

(B) AR, Ufaraeh

(©) e, T

(D) ,

forg STz T <37Tee UF TR B 2

(A) ThIEE (B) HER

(C) TIee (D) ¥hTEe

T T & fope g o1 wfer forese Tl w6 2 2
(A) 9+ fag@  (B) 78: + FR

(C) W&l + 397 (D) T + 37
TSI vee frm G A SR 2

(A) & Efe (B) gfg @il

(C) T Efy (D) JoT Yy

$TH ¥ I agelite T9TH &l 3TE T4 8 2

(A) icths B) fiferd

ot e 7 1 A 3 g A
% 6T Cico|

I HEd 8

(A) 9 (B) =g

(C) =™ (D)

TH © Gehyeh TshaT T T80T 81 8

(A) T i for@ar 2 |

(B) I1&AH AATE |

(©) lﬂzﬂﬁm

(D) #f qwﬁ%|
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164.

165.

166.

167.

168.

169.

170.

Topmr ferepe 1 gfeq wreg 71 2 2

(A) T, fam (B) 3, fagr
(C; g, 3erE (D)) T, qroT
ﬁwi%fﬁaamﬁmﬁw@rm
1.311%131?#&5

.\

ﬁwﬁwﬁmﬁwm?

(A) 2, 3 34 (B) 1312

(C) 1,334 (D) 233
frerforftaa o 9 forg faemeq o Ty g 181

82
A :ﬂﬁm%ﬁﬁ'cﬁw
%B; ﬁ@TW%aﬁUﬁﬁTﬁaw

|
(C) T TIEH A1 &, T8 ML |
(D) & T 3T & SefeTe Hier 2 |
R g H O BH | g
TG ?
(A) % o= hl THIEHL RGeAT3T |
(B) asfhmﬂazwnl
(C) %1 T TH L T
(D) wamagqaqa
%aaﬁmsr

(D) 51 T — T
T =A AT HITH @

(A) =t
(C) 31
giﬁwéa@ﬂwwwﬁaﬁm

(A) w% (B)
%:1)4 ﬁqﬁa‘aﬁa)) 3R

ST SATIR TR IHeRT
mﬁ‘g'@m@:@ FEAE |
(A) 3THHF (B) u%“%
¥ Iecie %éDa Sreat ‘-?5 ]
S9 Tk Bl EiE!
TgISI 7 7, 79 39 g 1 JF0T g

az
(A) qoifers (B) Irgfm
(©) (D) TRiEg
‘Fifern fra YT HT e B 7

(A) gaTTert (B) 3mSH
(C) ST (D) 3
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SEHT TN U faATT & gEL favm  aen |

Y Feg qAT AL hETeEl o6 Y
BT 8

(A) IS TSI (B) THwT

(©) IO (D) THH

11 § & = wiog TEwE B 7

(A) gt (B) fiem

(C) ferem (D) %9
wg%mﬁﬁﬁ ﬁagquwgé
(A) -9eg (B) =

(C) W -¥8 (D) 394 - faga
By 7y # 7 arew @rr 4 frefatea 9
YHAHEE ?

(A) 313y (B) ¥R

(C) T (D) dreHed

B 48 -

(A) HATH IdHH HTA

(B) dfery aau™ et

(C) 37U Fehared et

(D) 31T YTehreA
SHTferaTreh T 1 3CTEWT 2

(A) = (B) 9IS

(C) e D) g8

Afgd I < I F o4 T 8

(A) HFTEd (B) Torrpe
(SCIED (D) =R
AT TeHTH 1 38 i 18 2
(A) H1 (B) I3

(C) ®H (D) =1

Ui g2l oh1 THTER 1 Sd T dreleh

S .

(A) 9= (B) 9=Imd

(C) Y= (D) Y=t

hig H WISl &1 - aTal o1 3719 §

(A) U GT W 8 5@ &M

(B) T T& Wie o

(C) S-SRt ST T

(D) 3Tcaferes grge g

feforfaa @ T faseu T agw ae 2 2
(A) % U HU IR |

(B) =fe o g & g3t ar fver &t |
(C) SHTeT ST BiF W He SITelTe & S |
(D) 35 TTeTd hTH hieh 7T HHMT |
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182. fi=Afoifiad & oM & vieg sl I I[E B 2
(A) MaTieh (B) anagr?g
(C) HIEIH (D) SETRIG

: P

T g9 37 SH=Td1 < —Hfi YT |1 St
a%émmﬁm—gghwaﬁm ﬁ%m@r%‘eh‘lm
gﬁﬁ%ﬁgﬂ%ﬂﬁ%mmmaﬁéﬁ

183. I 3T TYHR & Wg T H &9 &
I |1 9T T8l g 2
(A) T =2 2 st |
(B) HE-§:@ %I 3191 & T |
(C) AR T 3T9ehT 3TR IHST 3T |
(D) o 3mE fe & foTe erenfaa @ |

Feh HeEr fea-gft Ta-= 3=fd
HT | -G Ta-=rF I gaTer
H A AT AT B2

(A) fe7 g 3fit T sresra 2T |

(B) fea fB ST |

(C) Te Wit &1 5w |

(D) 7=t qahl B |
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m@wﬁ@ma@ﬁw%m@

FHE YT TSATE ?

(A) ﬁﬂg%lﬂ BRI 3T THTd hLd 2 |

(B) &« 19 % F9 A g AT & |

(C) aTdTeA™ SHd §C AT 3T feherar
T 3V Hd 7 |

(D) Togul STaTeReT § Rwd 37 Sad=Td
ot T 2 S B |

3
(A) SR ¥ IqUE | M Hal |

TENDELD) THLINIO AN TGO UNCE TGN LTI WABIUND WD 0 T

(B) e & whwh e A W A

firet |

(C) VT WHE JE=AHE, Sccdqd
37 B T fd ST o |

(D) Sfted § frsm & w1 fogemor
Exull

FT =G Hl IuGh INGH &

(A) OHTE IRk

(B) 3IocAT® T WY <hl HEdT

(C) FmmeTean

(D) Sfiad o Jfd @& gigem

forg faereq § €41 ot 3109 TToT 8 2
(A) B, B) 3, U
(C) &, T (D) 3, 3
frforfiad & & 8 a1 v e E @ 7
(A) g3 (B) Fite
(C) L (D) A
feafafead g s s AT g ?
A= B) 9

(€ = (D) &

forg forea o ooft Oy @i 8 2
(A) &, B) T, H
(C) I, % (D) q,4
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192.
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194.

195.
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200.

fopa foehed B |ft vTeg TR T TET=R E
?
(A) TR, 0T, FTH

(B) =m,
(C) ﬁa’?mu%aw
(D) &, ﬁgr Gﬁ‘q

fope e T “Integration’ 31eg ST THHET
T wifs g adi 82

(A) ThiHT (B) TR

(C) AHea (D) At

Torr forenea T T3t vTee RO a8 2
(A) TG, <HIH, TSRS

(B) 31, 31SHd, ST
(C) IAMR, ¥SR, 3N
(D) gferar, 7@, &

forg formea 1 At viee TR YA THET= 8 2
(A) &F, |1, 3UT

EB; foerda, geq, Uz

C) 3TH, T, 3ahd

(D) ==, o, qﬁa

Torg foreped H Tt 3Teg TRER qaiaT=d @ ?
(A) HTedt, geli, gl

(B) §A, 5, Jed
(C) T,

D) ﬁmgg?

ot fhe § Tt R -gm A8 2 2
(A) 3AHEHT x

(B) 9qER x QR

(©) w x

%a §aaa°ri%|aﬁtr FHR?
(A) 35 %gr( B) Hifd x uhifd
©) T{FE (D) aift x faerme

fopg forere H Wl foreim-gm 48 § 2

(A) THE-IE (B) URAI-HTE
(C) yE=A-fawor (D) g -g™
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Ise-gH FH-9q
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